meE1=8, [E2=5. MIRE3=5, fRB4=3. [EE5=8, MIeE6=9. ME7=7. [IRE8=6, FIE9=7. A
#210=3, EE11=7. MEE12=2, [E13=8, [ME14=3, [E15=8, MHE16=2



mRE1=9, [E2=8. MIRE3=2, fRB4=6. [EE5=6. FIeE6=3. ME7T=4. [IRE8=6, FE9=2. A
#210=6, HE11=4., EE12=9, BE13=1, [E14=5, [EE15=1, FHE16=4



mE1=4, TEE2=4, [E3=8, fRB4=2. [EE5-6. FIeE6=1. ME7=8. [IRE8=4, E9=2. A
#210=8, EE11=1. ME&E12=6, BE13=1, [ME14=7, [EE15=6, HHE16=7



mRE1=4, [EE2=3. [E3=2, fRB4=2. [ERE5-8, RIe86=4. ME7=4. [IE8=8, FIE9I=5. A
#210=8, EE11=4. [E12=6, ME13=4, [E14=8, [EE15=1, FHE16=9



EE1=1, RIE2=9, [IE3=5, fRB4=9. [EEE5-4, RIeE6=4, MERE7=7. [IRE8=6, RIE9=6. M
7210=9, MIRE11=6. [IRE12=7. ME13=9. MiE14=8. MEIRE15=1. ME=E16=8



E1=2, Rl2=4, [IE3=7, [RB4=8. [EEE5-=8, MIeE6=4, MERE7=1. [IRE8=6, RIE9=3. M
®210=2, ME11=4, [EE12=8, ME13=3. MiE14=7. EIE15=3. MErE16=3



EE1=7, REIE2=3, [IE3=6, [RB4=6. [EEE5=1, RIeE6=8, MEEE7=1. [IE8=8, RIE9=8. M
7210=6, MIRE11=9. MIRE12=7. ME13=8. MiE14=9. FIrE15=4. [IE16=1



EE1=6, RIE2=5. [IE3=9, fRB4=4, [EEE5=6, RIeE6=5, MERE7=9. [IRE8=4, RIE9=6. [
7210=6, MIRE11=5. [EE12=8. ME13=4. MiE14=1. ERE15=7. MEE16=4



EE1=1, RIE2=6, [IE3=9, fRB4=2, [EEE5-=2, RIeE6=2, MEEEr=2. [IRE8=2, RIE9=3. M
®210=5, MRE11=6. [ERE12=1. ME13=4. ME14=1. EE15=9. [E=E16=8



EE1=8, RIE2=2, [IRE3=8, fRB4=4. [EEE5=4, RIeE6=4, MERE7=3. [IRE8=3, RIE9=5. M
r210=1, [ErE11=8. [EIRE12=6. ME13=1. ME14=6. EE15=1. E=E16=9



